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UNIT-1 (3%T¥-)

Discuss the interaction matrix of different environmental
factors.
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What is disinvestment? What are its objectives? Explain
the present policy of disinvestment for Public Sector
Units.
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UNIT-I (3%18-1I)
Write notes on the following :
(i) Industrial Licensing.
(i) Foreign Trade Policy.
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What are the objectives of industrial policy? Give
provisions of latest industrial policy in India.
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UNIT-II (3&hTE-1I)
6. What are the reasons for industrial sickness? Discuss the
remedial measures.
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7. Explain the important provisions of Environmental
Protection Act.

wigr W sfufew ® Teapl ymwe #
[ i)

UNIT-IV (3&T3-1IV)
8. Explain the basic principles and charter of WTO.
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9. Elaborate and explain regional groupings in WTO.
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